
1. ÑF¨F ÒîF: õFÛFFÍFWÜFF: (õFkõ=_+¶FÚFFðFÜFF ¼WæFÎFF;FÞUPáFÑÜFF) : 2×5=10

(=+) êFUÛFÆ;FæF¾U¶FFÜFF: H¶õF: =+:? ;FU¶FFÜFFk =+P¶F EÍÜFFÜFF: õFPÎ¶F?

(&F) êFUÛFÆ;FæF¾U¶FFÜFF: æF…+F =+:? =+ëF êFX¶FF?

(;F) Ò=_+¶FW: EñZ ÚFW¼F: =W+ ÚFæFPÎ¶F?

(fF) ;F]µF: =+: ÚFæFP¶F? õF ˜F =+P¶FPæFÍF:?

(‘~) ¡FUæF¼WùW ¶FÛFX;F]µFõÜF ÒÚFFæF: =+U¼_èF:ÚFæFP¶F?

(˜F) EæÜFæFõFFPÜFÎFFk ÙF]PÊ: =+U¼_èFU ÚFæFP¶F?

B.A. Honours Examinations 2022
(Under CBCS Pattern)

Semester - II
Subject : SANSKRIT

Paper : C 4-T

(Self Management in the Gita)

Full Marks : 60

Time : 3 Hours

Question Paper

VIDYASAGAR UNIVERSITY

Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.

P.T.O.



(š) =+: Põ»F¶FÒ£F: ÚFæFP¶F?

(¡F) P·FPæFÍFk ÎFÞ=+õÜFW¼k ÂFÞÛFh<P·FPæFÍFk ÂFÞk P=+ÛFh?

2. ˜F¶æFFÞ: ÒîF: õFÛFFÍFWÜFF: (J=+õÜFX¸FÞk õFkõ=_+¶FÚFFðFÜFF ¼WæFÎFF;FÞUPáFÑÜFF ˜F ¼WÜFÛFh) : 5×4=20

(=+) æÜFæFõFÜFFP¶ÛF=+F ÙF]PÊ: =+F ÚFæFP¶F?

(&F) £FFÎFÜFX;F: =+X ÚFæFP¶F?

(;F) =+F ÎFFÛF êFÊF? =+P¶FPæFÍFF ˜F õFF? ¶FFõFFk õæFàÑFk æFµFaÜF¶F?

(fF) EFùFÞ: =+P¶FPæFÍF:? =W+ ˜F ¶FW? J=+õÜF PæFðFÜFW õFk‡FWÑFWµF EFáFX˜FÜF¶F—

(‘~) æÜFF&ÜFF =+FÜFFa-

ÜFW ÜF»FF ÛFFk ÒÑFÃÎ¶FW ¶FFkõ¶F»FYæF ÚF¡FFÛÜFùÛFh—

ÛFÛF æF¶ÛFFaÎF]æF¶FaÎ¶FW ÛFÎF]ðÜFF ÑFF»Fa õFæFaèF:ÿ

(˜F) æÜFF&ÜFF =+FÜFFa<

˜F¨FáFk Pù ÛFÎF: =_+ðµF ÒÛFFP»F ÙFáFæF¼h¼_³ÛFh—

¶FõÜFFùk PÎF;Feùk ÛFÎÜFW æFFÜFXPÞæF õF]¼]ð=+ÞÛFhÿ

3. ·FÜF: ÒîF: õFÛFFÍFWÜFF : 10×3=30

(=+) êFUÛFÆ;FæF¾U¶FFÎF]õFFÞÛFh EF¶ÛFÎF: õæFàÑFk =+ÛFa ˜F æFµFaÜF¶F—

(&F) êFUÛFÆ;FæF¾U¶FFÎF]õFFÞk PÎFð=+FÛF=+ÛFaÜFX;F: æÜFF&ÜFWÜF:—

(;F) ÛFÎFõF: õæFàÑFk ÜF»F;FeÎ»Fk ÒP¶FÑFF¼ÜF¶F—

(fF) ÍÜFFÎFk P=+ÛFh? ÍÜFFÎFÜFX;FõÜF õFFÍFÎFÒµFFáFU æFµFaÎFUÜFF—

(‘~) ÜFX;FõFFÍFÎFW EFùFÞõÜF ÚF[PÛF=+F EFáFX˜FÎFUÜFF—

————
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